@ @ ba phan sb, dau phay, thir tu cac phép toan c6 dau
N ngoac

Tén: Ngay thang: Piém:
4+5,8)x3,4= (5+5,4)x2,8=
55-2)= 42,6 +4,5)=
— =g = 42
(1-3)=4 (1+22) 3=

5
12 4 1

—+=-)+4= 33,9—=) =
(5+3) (3.9-3)
2(3,3+2,2)= 147 L

(3 +7)

www.snowmath.com


https://www.snowmath.com

RO ¢ A

ba phan sb, dau phay, thir tu cac phép toan c6 dau

ngoac
Tén: Ngay thang: Diém:
833 728
4+ 4=— +5,4)x 2,
(4+5,8)x3, % (5+5,4)x2,8= 55
— ) = 142
62 =15 42,6+4,5)= —=
1 42 47
1-3)~4=(—= I+ —)~+ —
(1-3) =3) (I+2)=3=1
12 4 14 5
— + +4=— 33,9— =)= —
2(3,3+2,2)=11 14 7 11
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